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L , agree to neither give nor receive any help on this exam from
others. I understand that the use of a calculator or communication device on this exam is
academic misconduct. I also understand that providing answers to questions on this exam to

other students is academic misconduct, as is taking or receiving answers to questions on this
exam from other students. Thus, I will not expose my answers to other students. It is important to
me to be a person of integrity and that means ALL ANSWERS on this exam are my answers.

Any violation of these guidelines will result in a penalty of at least receiving a zero on this exam.

Signed

Binary Choice Questions (9 questions worth 1 point each)

1. The government implements an excise tax in a market where the demand curve is relatively
more elastic than the supply curve. Given this information and holding everything else constant,
you conclude that the:

a. Consumer tax incidence from the implementation of this excise tax is greater than the producer
tax incidence from the implementation of this excise tax.
b. Producer tax incidence from the implementation of this excise tax is greater than the consumer
tax incidence from the implementation of this excise tax.

2. Suppose that a market is closed to trade and the world price for this good is currently greater
than the closed market price for the good. Given this information and holding everything else
constant, if this market opens to trade, then:

a. Domestic Producers will benefit from this change in the market.
b. Domestic Consumers will benefit from this change in the market.
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3. Suppose that a market is open to trade and that a tariff has been placed on this good. If this
tariff is effective in this market, we know:

a. That the tariff price must be less than the equilibrium price if this market is a closed economy
and greater than the world price if this market is an open economy.

b. That the tariff price must be greater than the equilibrium price if this market is a closed
economy and less than the world price if this market is an open economy.

4. Consider a firm that has the following demand curve for its product where Q is the quantity of
units and P is the price per unit:

Market Demand: Q = 500 — (5/2)P

Currently in this market 274 units are being sold. If the firm’s only goal is to increase its revenue
you would advise this firm to:

a. Raise the price of the good to as high a level as possible.
b. Sell no more than 250 units of the good.

5.When the price of the good increases holding everything else constant, we know that the
individual’s purchasing power has:

a. Decreased.
b. Increased.
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6. The City of Elvira finds that its metro bus system is not covering its total costs of operation.
The City of Elvira knows that the price elasticity of demand for bus rides is 2.38. Given this
information and holding everything else constant, the City of Elvira can reduce its losses by:

a. Increasing the price of each bus ticket.
b. Decreasing the price of each bus ticket.

7. Joe is currently selling 50 T-shirts per day at his business. He plans to have a sale on Saturday
where T-shirts are sold at 25% off their original price. He knows that his cross price elasticity of
demand for T-shirts and shorts is equal to -1.5, and his price elasticity of demand for T-shirts is
equal to 4. Given this information and holding everything else constant, you predict that Joe will
sell:

a. 100 T-shirts on Saturday.
b. Approximately 69 T-shirts on Saturday.

8. If the average total cost of producing a good is greater than the marginal cost of producing the
next additional unit of the good, then:

a. The average total cost is decreasing as output increases.
b. The marginal total cost of producing an additional unit decreases as output increases.
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9. Consider a perfectly competitive market that is currently in short run equilibrium. You are told
that the market price is greater than the representative firm’s ATC at the current equilibrium.
Given this information and holding everything else constant, you predict that in the long run:

a. The market supply curve will shift to the right.
b. The market supply curve will shift to the left.

Multiple Choice Questions (30 questions worth 3 points each)

10. Demand for good X is given by the following equation where P is the price per unit and Q is
the number of units of the good:

P=12-Q

Given this information and holding everything else constant, which of the following statements
is a true statement?

a. Price elasticity of demand between P =4 and P = 5 is more than one.
b. Price elasticity of demand between P =10 and P = 11 is less than one.
c. Price elasticity of demand between P = 10 and P = 11 is equal to one.
d. Price elasticity of demand between P =4 and P =5 is less than one.
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11. Suppose UW-Madison starts paying all of its enrolled students the same scholarship every
month. That means all enrolled students’ incomes increased. As a result of this scholarship
payment, the demand for bus rides in Madison decreases. Given this information and holding
everything else constant, which of the following statements is true about bus rides in Madison?

a. Bus rides are an inferior good for UW-Madison students and the income elasticity of demand
is a positive number.

b. Bus rides are a normal good for UW-Madison students and the income elasticity of demand is
a negative number.

c. Bus rides are a normal good for UW-Madison students and the income elasticity of demand is
a positive number.

d. Bus rides are an inferior good for UW-Madison students and the income elasticity of demand
is a negative number.

12. You are told the following information:

e The price of good Y increases by half its original amount;
e The cross-price elasticity between good X and good Y is -1/2; and
e The initial quantity demanded of good X is 4 units.

Given this information and holding everything else constant, what is the quantity demanded of
good X after the change in good Y’s price?

a. 1 unit of good X will be demanded after the change in the price of good Y

b. 2 units of good X will be demanded after the change in the price of good Y
c. 3 units of good X will be demanded after the change in the price of good Y
d. 5 units of good X will be demanded after the change in the price of good Y

13. Suppose you are told that P is the price of the good, Q is the quantity of the good, TC is total
cost, AC is average total cost, AFC is average fixed cost, and AVC is average variable cost.
Given this information and holding everything else constant, which of the following formulas
represents firm profit (7) correctly?

a. 1= Q*(P - TC)

b. = Q*(P — ATC*Q)

c. 1= Q*(P — (AFC + AVC))
d. = Q*(P — (AFC+AVC)*Q)
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Use the table below to answer following THREE (3) questions.

L is labor, K is capital, MPy. is the marginal product of labor, FC is fixed cost, and TC is total
cost. You are also told that the price of a unit of labor is $200.

L [K |o [mMp. [FC [TC
0 |4 0 $200 | $200
1 4 6 200 | F

3 4 12 200

6 |4 18 200 | P

14. Which of the following represents column MPL?

a. C.
MPL MP,
6 6
4 3
3 2

b. d.
MPL MPL
6 1.5
12 3
18 4.5

15. Recall that the price of a unit of labor is $200. Given this information and holding
everything else constant, what are the values for F and P is the above table?

a. F =$200; P = $800

b. F =$200; P =$1200
c. F=8400; P = $1400
d. F=$400; P =$1200

16. Suppose this firm produces 12 units of the good and sells each unit of the good at a price of
$100. Given this information and holding everything else constant, what is the firm’s profit?

a. $1400
b. $1200
c. $800
d. $400

EXAM CONTINUES!
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Use the following information to answer the next THREE (3) questions:

Consider the following graph depicting Megan’s budget line, BL, and two of her indifference
curves, IC1 and IC2. Point B represents where the budget line, BL is tangent to the indifference
curve IC1. The indifference curve IC2 intersects the budget line BL at Point A and Point C.

Assume that Megan has income to be spent on good X and good Y and that the price of good Y
is $3 per unit.
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17. Given this information and holding everything else constant, which of the following
statements is true?

a. The bundle of goods X and Y at Point A is preferred by Megan over the bundle of goods X
and Y at Point B.

b. There are an infinite number of indifference curves that include the bundle of goods X and Y
at Point C.

c. Megan could have greater utility if she chooses a different bundle of goods X and Y than that
depicted at Point B.

d. At Point A, the marginal utility of Good X is greater than the marginal utility of Good X at
Point C.

EXAM CONTINUES!
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18. Given this information and holding everything else constant, which of the following
statements is true?

a. Megan’s income is $10 and the price of Good X is $(1/3) per unit.
b. Megan’s income is $10 and the price of Good X is $1 per unit.
c. Megan’s income is $30 and the price of Good X is $1 per unit.
d. Megan’s income is $30 and the price of Good X is $(1/3) per unit.

19. If Megan’s income is cut in half, the marginal rate of substitution (that is, the slope of the
indifference curve) of Good X for Good Y at her optimal consumption bundle is:

a.-1/6
b. -1/3
c.-2/3
d.-3/2

EXAM CONTINUES!
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Use the following information to answer the next FOUR (4) questions:

Consider a fictional country, Metallia, which produces titanium. The domestic demand and
supply for titanium are given by the following equations where Q is the quantity of pounds of
titanium and P is the price per pound of titanium:

Domestic Demand: Q =30 - P
Domestic Supply: Q =2P

The price is measured in dollars per pound of titanium. Suppose that Metallia’s titanium market
is open to international trade so that people can buy and sell unlimited quantities of titanium
from abroad. The world price of titanium is $6 per pound of titanium.

The government is considering the following two policies to deal with the repercussions of an
open economy in this market:

Policy 1: Imposition of a tariff of $2 per pound on titanium in this market.
Policy 2: Imposition of an import quota of 9 pounds of titanium in this market.

20. Given this information and holding everything else constant, which of the following
statements is true about the titanium market in Metallia when this market is open to international
trade and there is no government policy intervention?

a. If this market opens to trade, consumers will be worse off since the domestic quantity supplied
will fall to 12 pounds from the closed economy level of 20 pounds.

b. If this market opens to trade, then imports will account for half of the quantity demanded in
the market.

c. If this market opens to trade, the price in the market will be $6 per pound and domestic
consumers will consume 12 pounds of titanium.

d. If this market opens to trade, the country will export titanium and domestic consumers will
consume 24 pounds of titanium.

21. Suppose the government decides to implement Policy 1, a tariff of $2 per pound of titanium.
Given this information and holding everything else constant, what is the government’s revenue
from the implementation of this tariff?

a. $6

b.$8
c. $12
d. $16

EXAM CONTINUES!
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22. This question asks you to compare the outcomes from Policy 1 to the outcomes from Policy
2. Given this information and holding everything else constant, which of the following
statements is true?

a. License Holder Revenue with Policy 2 is greater than Government Tariff Revenue with Policy
1.

b. Policy 1 results in consumers consuming more units of the good than does Policy 2.

c. Consumer surplus increases by $15 when the government switches from Policy 1 to Policy 2.
d. The value of producer surplus under Policy 2 is smaller than the value of producer surplus
under Policy 1.

23. When comparing Policy 1 and Policy 2, what is true about the welfare implications of these
two policies?

a. Policy 1 has a same effect on consumer surplus, producer surplus and deadweight loss as
Policy 2, with the only difference being that government revenue now becomes license holder
revenue to the importers who have the right to import the good.

b. Policy 1 results in less overall deadweight loss than Policy 2.

c. Policy 1 results in a deadweight loss of $6 while Policy 2 results in a deadweight loss of $1.50.
d. All of the above statements are true about the welfare implication of these two policies.

EXAM CONTINUES!
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Use following information to answer next FOUR (4) questions.

You are given the following demand and supply curves where P is the price per unit, Qd is the
quantity of units demanded, and Qs is the quantity of units supplied.

Demand is given by: Qd =24 — P
Supply is given by: Qs =P - 4

24. Suppose the government implements an excise tax on producers in this market of $4 per unit
of the good sold. The graph below illustrates this excise tax where “ Supply  is the initial
supply curve, “ Demand ” is the initial demand curve, and “ Supply’ ” is the supply curve after
implementation of the excise tax. Given this information and holding everything else constant,
which of the following answers is true?

Price Supply

Supply

Demand

A 10 Quantity

A = 8 units; B = $16 per unit; C = $12 per unit; E = $8 per unit; D = $4 per unit
A = 8 units; B = $15 per unit; C =$11 per unit; E = $4 per unit; D = $2 per unit
A =9 units; B =$17 per unit; C = $13 per unit; E = $8 per unit; D = $4 per unit
A =9 units; B = $15 per unit; C = $10 per unit; E = $6 per unit; D = $2 per unit

aoe o

25. Given the above information and holding everything else constant, calculate the consumer
tax incidence (CTI) and the producer tax incidence (PTI). What percentage of the tax do
consumers pay?

a. 50%
b. 100%
c. 0%

d. 33.3%

EXAM CONTINUES!
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26. Suppose the government decides to remove the excise tax of $4 per unit. The government
implements a new excise tax of $6 per unit. What is the difference in the deadweight loss
between the excise tax of $4 per unit and the excise tax of $6 per unit?

a. The excise tax of $6 per unit increases the DWL by $9 relative to the DWL when the excise
tax is $4 per unit.

b. The excise tax of $6 per unit increases the DWL by $5 relative to the DWL when the excise
tax is $4 per unit.

c. The excise tax of $6 per unit increases the DWL by $16 relative to the DWL when the excise
tax is $4 per unit.

d. The excise tax of $6 per unit increases the DWL by $14 relative to the DWL when the excise
tax is $4 per unit.

27. Suppose the government wants to maximize total welfare in this market. Which of the
following excise tax rates will the government prefer to implement in this market if this is the
government’s goal?

a. $0 per unit
b. $3 per unit
c. $5 per unit
d. The government finds that total welfare in this market is the same no matter which of these

three excise tax rates they implement in this market.

EXAM CONTINUES!
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Use the following information to answer the next THREE (3) questions.

Amy earns an income of $90 and purchases only markers (M) and textbooks (T) with this income.
You are provided the following information:

Price of a Marker = $3 per marker

Price of a Textbook = $6 per textbook

Marginal Utility of a Marker = MUmarker = T
Marginal Utility of a Textbook = MUjextbook = 2M
Amy’s Total Utility = U = 2MT

28. Given this information and holding everything else constant, which of the following statements
is true when Amy consumes her optimal consumption bundle?

a. The marginal utility of markers must be higher than the marginal utility of textbooks.

b. The marginal utility of textbooks must be higher than the marginal utility of markers.

c. The marginal utility of textbooks must be equal to the marginal utility of markers.

d. The relationship between the marginal utility of textbooks and the marginal utility of markers
cannot be determined without more information.

29. Suppose the price of textbooks (T) decreases from its original level to $3 per unit while the
price of markers (M) remains at $3. Given this information and holding everything else constant,
what is the optimal consumption bundle (T, M) that Amy will now consume?

a. (T, M) = (10, 20)
b. (T, M) = (20, 10)
c. (T, M) = (25, 5)

d. (T, M) = (10, 10)

30. Suppose the price of textbooks (T) decreases from its original level to $3 per unit while the
price of markers (M) remains at $3. Which of the following statements is true about Amy’s
demand for textbooks given this price change and holding everything else constant?

a. Amy’s substitution effect is negative while her income effect is positive.

b. Amy’s substitution and income effects cancel each other out exactly: Amy’s consumption of
the textbooks does not change.

c. Amy’s substitution effect is positive while her income effect is negative.

d. Amy’s substitution effect and income effect are both positive.

EXAM CONTINUES!
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Use the following information to answer the next THREE (3) questions.

Demand and supply in country X are given by the following equations where Q is the quantity of
units of the good and P is the price per unit of the good:

Domestic Demand: P =100 — Q
Domestic Supply: P =10+ Q
World price: Pw = 30

31. Suppose that country X opens this market up to unregulated trade. Given this information
and holding everything else constant, which of the following statements is true?

a. Country X will export 50 units
b. Country X will import 50 units
c. Country X will export 25 units
d. Country X will import 25 units

32. Suppose that country X opens this market to trade while implementing a tariff that raises the
price by $25 per unit of the good. Given this information and holding everything else constant,
how many units will be imported when this tariff is implemented?

a. 45 units
b. 25 units
c¢. 20 units
d. 0 units

33. Suppose that country X opens this market to trade while implementing a tariff that raises the
price by $25 per unit of the good. Given this information and holding everything else constant,
what is the deadweight loss due to the imposition of this tariff?

a. (12)(25)(50) dollars
b. (12)(10)(50) dollars
c. (*2)(25)(25) dollars
d. 0 dollars

EXAM CONTINUES!

18



WORKSHEET — DO NOT REMOVE!

EXAM CONTINUES!

19



Use following information to answer next THREE (3) questions.

A firm in perfect competition has the following cost structure where q is the number of units of
the good that the firm produces:

Total Cost: TC = g2 + 50q + 49
Marginal Cost: MC = 2q + 50

34. Given the above information and holding everything else constant, what is this firm’s fixed
cost (FC) when the firm produces two units of output?

a. FC=3$24.5
b. FC =$54
c. FC=3$153
d. FC = $49

35. Given this information and holding everything else constant, what is this firm’s shut down
price in the short run (P shut-down) and what is this firm’s breakeven price in the long run (P
break-even)?

a. P shut-down = $50 and P break-even = $64
b. P shut-down = $64 and P break-even = $50
c. P shut-down = $60 and P break-even = $57
d. P shut-down = $7 and P break-even = $74

36. Assume there are 4 identical firms in the market. Market demand is given by the following
equation where Q is the market quantity and P is the price per unit of the good:
Market Demand: Q = 80 — P

Given this information and holding everything else constant, what is the short-run market
equilibrium quantity and price?

a.Q = 40; P = $76
b.Q = 20; P = $60
c.Q =40; P =$525
d.Q=4;,P=4%76

EXAM CONTINUES!
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37. The table below represents Martin’s marginal utilities (MU) for doughnuts and cans of soda. Suppose
the price of 1 doughnut and 1 can of soda are the same and that Martin’s income is $6. Given this
information and holding everything else constant, how many doughnuts and sodas will Martin consume?

Quantity of | MU of an Quantity of cans of | MU of an
doughnuts | additional soda additional can
doughnut of soda
1 15 1 18
2 14 2 16
3 11 3 11
4 7 4 4

a. 1 doughnut and 1 soda

b. 2 doughnuts and 2 sodas
c. 3 doughnuts and 3 sodas
d. 0 doughnuts and 2 sodas

38. Which of the following statements is true about perfect competition?
a. The minimum AVC is the price at which the firm breaks even in the long run.
b. The minimum ATC is the price at which the firm shuts down in the short run.

c. The AFC intersects MC at the AFC’s minimum.
d. The AFC decreases as the quantity produced increases.
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39. Which of the following groups listed below benefit more when a country moves from a
closed economy to unregulated open trade?

a. Domestic Consumers in this country

b. Domestic Producers in this country

c. The Government of this country

d. You cannot determine which group benefits from this change unless you know the world price
of the good and the closed market equilibrium price for the good.

END OF EXAM!
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